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10.

12.

Instructions for the Candidates

Write your Seat No. and OMR Sheet No. in the space provided

on the top of this page.

This paper consists of 50 objective type questions. Each question

will carry fwo marks. All questions of Paper-11 will be compulsory,

covering entire syllabus (including all electives, without options).

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

@) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(i1) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(iir) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (C) is the correct response.

ONON NO

Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any place
other than in the circle in the OMR Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done at the end of this booklet.

If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.
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Defence and Strategic Studies
Paper 1I

R AeTa
goureRT 11

Time Allowed : 75 Minutes] [Maximum Marks : 100

Note : This Paper contains Fifty (50) multiple choice questions, each question
carrying Two (2) marks. Attempt All questions.

AT : A TRAehd TR TR (50) SgUEREN TR fooidl oTRd. e TeAen g (2)

0 . W Y gredl.

1. The following are considered as | 1. HEREH IS AEE Gl 11'%?[

assumptions to the study of Strategic Aqell A

Studies :

(1) IR gRIhH

(1) Realist approach

(2) Heaasll g
(2) Normative approach

(3) Hfaer dezera
(3) Ethical neutrality

I

Answer :

A) & (1) SR
(A) Only (1) is correct (&) @ g

(B) Only (2) is correct (B) o (2) SR 378

(C) Only (1) and (3) are correct (C) &aa (1) T (3) R TRd

(D) All three are correct (D) Td o se 3TRd

3 [P.T.O.



Liddell Hart’s definition of strategy
that focuses on application of
military recoveries for political

objectives implies :

(1) It is applicable in peace time
and war

(2) It subordinates war to politics
(3) War is functional

(4) The politician must be in
control of war

Answer :

(A) Only (1) and (2) are correct
(B) Only (1) and (3) are correct
(C) Only (1), (2) and (3) are correct
(D) All the four are correct

A nation state has the following
features :

(1) People

(2) Sovereign Government

(3) Territory

(4) Religion

Answer :

(A) Only (2) and (3) are correct
(B) Only (1), (2) and (3) are correct
(C) Only (2), (3) and (4) are correct
(D) Only (1) and (3) are correct
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feree g1 A=t TorHifafarses =are fSm=n

U 7 ' U 1 Sfeserandl assh=n e’

g B, ® Yiud &

(1) = AR IMAd=A a8 T
I Shell STl

(2) JGTel TSRRUMIS THH T

(3) JgI T FHAHR AR

N oo

(4) ISR TS Far= &= o189

Trfest
W :
(A) wed (1) 9 (2) & R 37
(B) wheel (1) & (3) B S 37ed
(C) wad (1), (2) T (3) & SR A
(D) W& 9RE SRIeR 3T
T2 T Gohod A8 § ¥ 3Ted ¢
(1) SFa
(2) TEYH WEHR
(3) waw
(4) ==
W :
(A) &ad (2) F (3) s 3Ted
(B) &ad (1), (2) o (3) SHIsN 3ed
(C) &ad (2), (3) o (4) SN A
(D) Haa (1) 9 (3) R AR




The concept of comprehensive

security is :

(A) State-centric

(B) Welfare-centric

(C) Development-centric
(D) People-centric

The following are some of the

important elements of deterrence :
(1) Communication

(2) Capability

(3) Credibility

(4) Rational calculation

Answer :

(A) Only (1) and (3) are correct
(B) Only (1), (2) and (3) are correct
(C) Only (1) and (4) are correct

(D) All the four are correct

4.
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HAqHEN GRET & Hehed Tl
(A) TE-TTehigd TR
(B) oAl 3T
(C) faepreshisa a1

(D) SHehigd TR

JUEE § Rl Hed™ ik AR ¢
(1) Hg=H

(2) &Hd

(3) foreemeraat

(4) e fora eman

I

(A) 9 (1) 9 (3) s&X Rd

(B) & (1), (2) T (3) TR 3Aed
(C) had (1) 9 (4) & TRd

(D) d 99 IR dUsR 3R

[P.T.O.



The failure of the League of Nations

can be attributed to :

(A) The failure of balance of power
(B) The failure of collective security
(C) The failure of deterrence

(D) The failure of brinkmanship

The concept “balance of terror” came

into use after :

(A) The Hiroshima, Nagasaki

bombing
(B) The Korean war

(C) The Soviet Union’s nuclear

testing
(D) The success of Soviet Sputnik

An agreement by all nations to
automatically punish the aggressor

is referred to as :

(A) Balance of power
(B) Common defence
(C) Deterrence

(D) Collective security

6.
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T 3T § RO Bld ¢
(A) I G STIAST

(B) HiHfesh HUarad= qgel
(C) JUgAr 3TIFT

(D) HHrarferdiae 3T9aeT

T Gger & Hhoddl & FEH®R Ie
el

(A) UM 9 ARt siial s 8ol

(B) I Ig

(C) Oifegud I3 == enfvee am=og-
R
(D) wifegud Wrr=n sqefe=ar avre

N

MHAS TNAes AU AT

Teh{d 0 el 3T Heludid
(A) T Hg

(B) 9HME glan

(C) WiEA

(D) wfesh gram




10.

Young husband expedition is
associated with the following

region :

(A) Afghanistan

(B) Tibet

(C) Kosovo

(D) Arunachal Pradesh

Match the following and select the
correct answer from the codes given
below :

List I

(1) Alfred Mahan

(2) Douhet

(3) Bugeaud

(4) Frunze

Codes :

@

(@)

((77))]

(@)

List II
Importance of
air power

Need for a

cadre army
Importance of sea
power

Colonial warfare

(A) (1)—Gv), (2)—@@), (3)—(i),

(4)—@i)

(B) (1)—(@i1), (2)—@), (3)—(v),

(4)—@)

©) (V—G0), (2)—Gi), (3)—),

(4)—@Gv)

(D) (1)—Gin), (2)—Gv), (3)—(@),

(4)—@)
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9. I THIS HifeH o AHEY Bl
(A) SRR
(B) fae=
(C) HrdreRt
(D) 3TEUMTEE Yol
10. Sires dren ffor Iy S Eielt foaien
Hehamyd faer -
it 1 Tt 1
(1) TTHE HeH @) TAE WA
e
(2) I8 Gi) el TAShUE
R
(3) SFTe Gi) 9T 9
e
@) A (v) TARAAR! G-
qgdl
Hehd :

A) (1)—@Gv), (2)—(1), (3)—(id),
(4)—(11)

B) (1)—(Gii), (2)—(@), (3)—(iv),
(4)—(1)

(C) (1H—@D), (2)—>ii), (3)—@),
(4)—@Gv)

D) (1)—(Gii), (2)—(v), (3)—@),
(4)—1)

[P.T.O.



11.

12.

SALT agreement refers to :

(A) deployment of anti-ballistic

missiles

(B) confidence building measures

(®)

military activity in outer space
(D)

nuclear free zones

Liddell Hart’s concept of strategy

called for :

(A) an indirect approach to weaker

the enemy prior to war

(B) a mechanised attack to destroy

enemy defences

(C) the use of air power to target

the enemy

(D) a reassessment of British

colonial war policies

11.

12.
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SALT 9ugiidl & 9eyid =il ¢

(A) SUUTEAfERIET SRS qd

(B) fagara faior sevar==n drem

(C) M@l SATRIIMAIA TSR Bl

(D) oTfvaes I forfea &=

faga v ar=a Tfa=r @ =

=

(A) I Y& BvF M Il HHped

HLorE] 3Ty al S

(B) T[T EIEIUMCH AlSok ATfAeh

geedl

(C) 39 favg TR soen 0

(D) foeT™ swEaaR! = HRom=l

RYICEIN




13.

14.

Who opined that “there is no single

cause for war, peace is an

equilibrium among many forces” ?
(A) Quincy Wright

(B) Clausewitz

(C) Jomini

(D) Napoleon

The

international society

approach :

(1) Dbelieves in the existence of a set

of rules, legal and morals
(2) accepts the utility of force
(3) promotes disarmament
Answer :
(A) Only (1) is correct
(B) Only (1) and (3) are correct
(C) Only (3) is correct

(D) Only (1) and (2) are correct

13.

14.
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“g?gl% HIUAE Teh RO AR, Il

B 3% THTAT HHAAR AT

AR 7 faum 9= R

(A) Tt Tge
(B) ATl
(C) fH

(D) Surfers

Yo TN faeR yeR

(1) fram, s snfor Sfaerdar favam™

oIl

(2) oot IUYeRIAT A Ll

(3) T:wrefieTonen W <t
3T

(A) wheel (1) s 3Te

(B) wheet (1) o (3) SRR 3Tred
(C) heel (3) SeX 31

(D) wHad (1) 9 (2) SR 3Ted
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15.

16.

17.

Insurgency is a :

(A) form of asymmetric warfare

fought across the border

(B) form of asymmetric warfare

fought within the boundaries of
the state
(C) form of information warfare
(D) form of cold war
SALT I and II are examples of :
(A) Disarmament
(B) Arms trade
(C) Arms control
(D) Arms proliferation
‘Al-Fatah’ is a group operating in :
(A) Ireland
(B) Palestine

(C) Latin America

(D) Afghanistan

16.

17.

DEC - 16213/11

Jgusd e

(C) gl gSUSd=l ThR e

(D) IMd Jg=T TR R

SALT I 9 II 2 == 3SR 37ed
UNREREZIETN|

(B) &= AR

(C) wr& T

(D) IESTE THR

"I wAR' T I FRERA AR :
(A) e

(B) WIS

(C) =feror smftent

(D) AR

10
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18. Unification of East and West | 18. Td o ufvem SHA= THiHT & =
Germany represents a success of : REIECS
(A) Fundamentalism (A) HAdEd
(B) Nazism (B) -TEharg
(C) Nationalism (C) TsZal]
(D) Separatism D) tlgﬁ'{aﬁ
19. Which one of the following is | 19 wrciicii! HIMCA I HOM HHA
considered the backbone of S 2
armaments ?
(A) TSR TN R
(A) Military industrial complex
(B) Foreign currency reserve (B) AT T
(C) Strategic materials (C) WM He |t
(D) Skilled labour (D) HIA HIHTR
20. ‘Star war’ was the nick name for the | 90 ‘g 5" & A9 e e el e
older version of : I
(A) National missile defence (A) T AqUTE G0 e
(B) World Wide TV transmission (B) @i SR q&q
(C) Inter-planetary radiation (C) Tiare frvoicaa
(D) Debris falling from planets (D) TEEET TSUR qhe
11 [P.T.O.



21.

22.

23.

‘Arab spring’ began with a

revolution in :
(A) Egypt
(B) Tunisia
(C) Libya

(D) Syria

The demand for North-South

dialogue was a reaction to :

(A) New International Economic

Order

(B) World Trade Organization

Regime
(C) Non-Proliferation Regime
(D) End of the Cold war

The major source of energy

generation in India is :
(A) Nuclear

(B) Non-conventional
(C) Thermal

(D) Hydel

21.

22.

23.
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Yo fEgTm!! St WAl YUw A9 gE
et

(A) o

(B) g
(C) fafsmn

(D) i

TSI/ T HETON B ' ueAe

gfdafsran A A ¢

(A) & Sfder sTefeaaen

(B) Sfder AR HeEA= 3THSHT

(C) 3Tfiger & o=t STHeT

(D) viid ggre gHrei

IArd SS9l Hatd Hecaral &id 8

e

(A) eTfoaeh
(B) SRR
(C) =m™q

(D) S
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24. The first medium range missile of | 24. WRANdlal Ufgel HELAH Yoardl &Y 7
India is : B
(A) Agni (A) 3Tt
(B) Akash (B) 3ATehTRT
(C) Prithvi (C) g
(D) Nag (D) -
25. Pakistan has neutralized India’s PN o o
25.  YIAraAn YUTeh ofSeh[ =Tl THhed
conventional military superiority
by one of the following HIOAHIS! AR AN R hd
factors :
(A) TR SRR FHSAl 0]
(A) Alliance with USA
(B) China’s military supplies (B) =g @l wwnlt facfa
ki fi Islami - . o
(C) Seeking support from Islamic (©) TEnfR T W fa
countries
(D) Developing nuclear capability (D) sTfvaeh &war faehfad
26. Indonesia was the colony of : 26. SSHREN & A IME qURA Bl
(A) UK (A) forea
(B) France (B) w4
(C) Holland (C) ®cTs
(D) USA (D) J.TH.T
13 [P.T.O.



27.

28.

29.

The Falkland War (1982) involved

the following countries :

(A) Argentina—Chile

(B) US—Cuba

(C) Spain—Argentina

(D) Britain—Argentina

CIS emerged after :

(A) End of British colonialism
(B) Dissolution of Warsaw Pact
(C) Disintegration of Yugoslavia

(D) Disintegration of the Soviet

Union

One of the following countries does
not belong to the Central Asian

region :

(A) Kazakhstan
(B) Uzbekistan
(C) Kyrgyzstan

(D) Kurdistan

27.

28.

29.

DEC - 16213/11
Fidhaie G (1982) el s

TUEY Bl

(A) ife—faeh
(B) STARGR—FI
(C) TF—3aTSife
(D) fored—atsifen
CIS =i fAfifdl &n s m M et .

A) fafest gmTERER

(B) STl HiRr=AT THIEIHCK

(C) Frreertegar=n fasedmam

(D) difegua WErEA faeeAH®

Te YA YoSId Weftetieh] WehT
o= HHEE B T

(A) hTATRET

(B) SEehI=d

(C) =hififgrer

(D) Hfw™

14



DEC - 16213/11

30. Tahrir square that came in the news | 30. WAL 3o hedl STA STHAA TERI
is in : b ® A M SR
(A) Tunisia (A) ﬂﬁﬁ"l?il'l
(B) Syria (B) fafen
(C) Yemen (C) &
(D) Egypt (D) s
31. Supply chain is a link between : 31. TS W B AAMA g SR
(A) Resources and consumption of (A) TGN SFE WEA A W
material by men in the theatre
EIREY
of war
(B) Natural resources and industry (B) Sl Fe o S
(C) Industry and market (C) & & S
(D) Market goods and consumers (D) dNRYSE "l 9 e
32. The term “ethnic cleansing” was used | 32. ‘‘<if3r% TR’ T I YA &A1 HIO
to describe the crisis in : Sfed Sl el
(A) Tibet (A) fosre
(B) Bosnia (B) e
(C) Somalia (C) wrHrfern
(D) Ethiopia (D) sty
15 [P.T.O.



33.

34.

The following are examples of third
party diplomacy :

(1) Good offices

(2) Mediation

(3) Conciliation

(4) Arbitration

Answer :

(A) Only (2), (3) and (4) are correct
(B) Only (2) and (3) are correct
(C) Only (1) and (4) are correct

(D) All are correct

Peacekeeping is not mentioned in
the UN Charter. It was introduced
as a concept within the Chapter VI
of the UN Charter by :

(A) Dag Hammarskjold
(B) U-Thant
(C) Boutrous Boutrous Ghali

(D) Kofi Annan

33.

34.
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Teiid JR § Jiad g&fta asarE

3l 33”%“ :

(1) FE
(2) weeeft

(3) @He

(4) @I

W

(A) & (2), (3) o (4) SR A
(B) e (2) 9 (3) SR 3ed

(C) &ad (1) T (4) IR 3T

(D) ¥d seR 3T

TR =1 Hfad Tl I&0=T Ieee

qEL T A=A GEredl WA &l
TehoU =l TUEY I shell :
(A) T EaWics

(B) 3 «ue

(C) g8 FH el

(D) &%l =M
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35.

36.

Who amongst the following

advocated that “under certain
circumstances, it is preferable to act

violently than not to act at all” ?

(A) Eisenhower

(B) Mahatma Gandhi

(C) Margaret Mead

(D) Jawaharlal Nehru

The Geneva conventions and their
additional protocols are at the core

of :

(A) International humanitarian law

(B) International law

(C) Municipal law

(D) Law of celestial bodies

35.

36.

DEC - 16213/11

‘et fafdre afifeerdia e = -

e fEdIcHss R hi0l qoed’ —

g faum =il e ?

(A) STITRIR

(B) WHEIAT el

(C) AFRe e

(D) AR 8%

fofrear dsha enfn @ sifalea 12

A M TR

(A) STRUASLE AFTAERT I

(B) STRUASLA HII

(C) U= el

(D) STIFHRIT  ShTaTE chld<l]
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37.

38.

39.

The main thrust of Gujral doctrine
is :

(A) Developing confidence building

measures with China

(B) Non-reciprocal relations with

South Asian Neighbours
(C) Dialogue with Pakistan
(D) India’s nuclear doctrine

Confidence Building measures

started with :

(A) Helsinki Agreement, 1975
(B) SALT I, 1972

(C) Camp David Summit, 1959

(D) Khrushchev’s visit to Belgrade,
1955

The concept of ‘Clash of Civilization’

was expounded by :

(A) Francis Fukuyamah
(B) Samuel Huntington
(C) Edward Said

(D) Hans Morgenthau

DEC - 16213/11

37. T URUTET & G @ T

(A) =H IR favamrgadies I A0

(B) Tfeqor TS Ueei= SO e -

Ty A STHE 7 HIO

(C) UifrE™ sIeR e

(D) YRAr 3Tfueeh &R

38. favarqats AT e A9 e

(A) AR TR, 1975
(B) SALT I, 1972

(C) &m sfee fFraR 4ieg, 1959

(D) Gv=@ AT dadeel 92, 1955

39. '‘wwpfa mwefter geel’ & Ghew At

areett

(A) HIEE I
(B) WrgsTa gfeied
(C) we=E ¥\

(D) =9 HIU9=

18
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40. Which of the following is not a | 40. Eeicldsh! HIUd dd ‘‘gosiel’’ 993
principle of ‘Panchasheel’ ? T2y ?
(A) Mutual respect for each other’s (A) TFRFIE T THAD T
territorial integrit and
_ STy T S 3T
sovereignty
(B) Non-aggression (B) T
(C) Non-interference in each other’s (C) THHHTAT FHd HTERT THIAT
internal affairs T O
(D) World peace (D) SINTfaes  STTera
Chabahar region is located in : Y R -
(A) Iran (A) =TI
(B) Pakistan (B) CHETSIE]
(C) Afghanistan (C) TR
(D) Aksai China (D) w iG]
42. Zeppelin was a : 42, FURE FE
(A) Airship designed by Britain
during the first world (A) dfec HergEl SN foie foehfyd
war Thelel TS ST&TSl Bid
(B) Airship designed by Germany - Cam e e
(B) Ufeed HegS! XM STHA fashfad
during the first world
war ol gae SRS B
(C) A U Boat used by Germans (C) i aae U &ie &l
(D) A Polaris class submarine of the
Us (D) SR Jred St Jorge! Bt
19 [P.T.O.



43.

44.

45.

BIMSTEC is connected to India’s :
(A) Policy towards Bangladesh
South

(B) Policy towards

China sea
(C) Look East Policy
(D) Look West Policy

The World Bank, IMF and GATT/
WTO represent the following view-

point :

(A) Neo-Marxism

(B) Economic liberalism
(C) Idealism

(D) Realism

Quantum electronics helped the US

to monitor Soviet :
(A) Nuclear testing
(B) Electronic signals
(C) Troop movements

(D) Satellites

43.

44.

45.

DEC - 16213/11
YA Hevid BIMSTEC 31 =it

Y AR :
(A) INTEl Q¥ SRS GR0

(B) <faqor =it SygTeTedd &R
(C) oh TR R
(D) TF L =R

SITfdeh o=k, SATAXSAT ATOI-eR STy

Te/SIMTfdeh  SATAR SER ) RIBRCINIY

fogeng geifaar -
(A) a1 AR
(B) 3ffelsh SERiehtul
(C) TR

(D) A&

STHRhel FdeH SolRiMaagR  difeeud

WrT= ' FHdl GeWid @& Jadr

(C) T== BT

(D) S9U"
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46. The conflict in the Caucasus A6, TorA st St e FSREg
between Russia and Georgia was .
AT WEY ' AT TSl
faught in the region of :
(A) RHAM
(A) Armenia
(B) Chechnya (B)
(C) Ossetia (C) shrdfe
(D) Nagorno-Karabakh (D) FAFTHI-<hTreTE
47. India’s nuclear weapons programme | 47. YRArEl SAUaeh IEATE HEAHT R
is 31131 | G M
(A) Uranium based (A) J=m
(B) Plutonium based (B) =t
(C) Thorium based (C) afem
(D) Heavy water based (D) S qmf
. ‘A for Peace’ e , . .
48. The ‘Atom for Peace’ programme was 48, ‘vTiaarETay " @ FER EYE
introduced in the U.N. General . . .
qEHE A qeel
Assembly by :
(A) Jawaharlal Nehru (A) ST e
(B) Eisenhower (B) STEHTRI
(C) Nikita Krushchev (C) ffehar he=iee
(D) Marshall Tito (D) =eter &
21 [P.T.O.



49.

50.

123 Agreement refers to :

(A) India-Russia nuclear

cooperation agreement

(B) India-US nuclear cooperation

agreement

(C) India-IAEA agreement on

civilian nuclear facilities

(D) India-NSG agreement on

supply of nuclear fuel

The TAPI gas pipeline project

involves the following countries :
(1)
(2)
3)
(4)
(5)
(6)
Answer :

(A)

India

Iran
Pakistan
Afghanistan
Turkey
Tajikistan

Only (1), (3), (4) and (6) are

correct

(B) Only (1),

correct

(2), (3) and (4) are

(C) Only (2),

correct

(3), (4) and (5) are

(D) Only (1),

correct

(3), (4) and (5) are

49.

50.

DEC - 16213/11

‘123 IR’ B Tevld B :

(A) R effveesr e R

(B) viR@-T8ftawt enfras ggahtd
h T

(C) YRG-IAEA TEIE AR 3Tfudeh
JeheqTaad il

(D) 9RA-NSG <=M 3ffUeeh SeAmN
AT HIITEEd HIR

TAPI 8 9 U9 Yhed & <9I

qatyd e

(1) 9Rd

(2) =0

(3) TIfh&IM

(4) SABIMURIH

(5) &

(6) AR

W

(A) e (1), (3), (4) T (6) I 3T
(B) e (1), (2), (3) & (4) S 3Aed
(C) e (2), (3), (4) T (5) IR 3T
(D) e (1), (3), (4) d (5) SRS ATed
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